
1 DSEPRG2023_HSG800.789.1718 • dixonvalve.com

w

RP-BS-Series 
Rack and Pinion 
Actuator

dixonvalve.com
Customer Service
800.789.1718

Engineered Product 
Reference Guide



2 DSEPRG2024_RPBS800.789.1718 • dixonvalve.com

RP-BS-Series

RP-BS-Series Rack and Pinion Actuator

Model Size Double Acting (lbs.) Spring Return (lbs.)

045 5.0 5.5
060 8.0 8.5
085 14.0 14.5
105 25.5 27.0
125 38.5 40.5
140 63.5 65.5
160 80.0 83.0

Actuator Weights Chart

Application
•	 Stainless steel rack and pinion utilized with industrial and sanitary valves for quarter turn 	
	 actuation in industrial, food/beverage, and pharmaceutical applications

Features
•	 Replaceable top and bottom PTFE pinion bearings ensure low friction 
•	 304 SS construction for excellent chemical and corrosion resistance 
•	 Travel stops provide ± 4° travel adjustment 
•	 Precision cast stainless steel pistons are guided through full 
	 face engagement with the pinion and piston guide 
•	 NAMUR slotted shaft is standard to provide a self-centering 
	 positive drive for positioners or a variety of switches 
•	 Drive pinion is one-piece stainless steel alloy shaft with precision 		
	 machined gear teeth for precise control

Specifications
•	 Maximum pressure rating: 120 PSI 
•	 NBR elastomer (standard) temperature range: -4°F to 180°F (-20°C to 82°C)
•	 FKM elastomer (optional) temperature range: -4°F to 302°F (-20°C to 150°C)
•	 Available in: 
	 - Double acting 
	 - Spring return (standard CW - air actuated) 
	 - Spring return (optional CCW - air actuated)



3DSEPRG2024_RPBS 800.789.1718 • dixonvalve.com

RP-BS-Series

Size Spring 
Per Side

Spring 
Torque 40 PSI 60 PSI 80 PSI 100 PSI

(5 STD) End Break End Break End Break End Break End Break

RP-BS-045-SR

3 35 57 14 36 50 72 86 108 121 143
4 47 77 30 60 66 96 101 131
5 60 96 47 83 82 118
6 71 115 63 107

RP-BS-065-SR

3 67 136 35 104 120 189 206 275 291 360
4 90 182 74 166 160 252 245 337
5 112 227 115 230 200 315
6 135 273 154 292

RP-BS-080-SR

3 167 273 97 203 282 388 467 573 652 758
4 223 364 191 332 376 517 561 702
5 279 456 284 461 469 646
6 335 547 378 590

RP-BS-105-SR

3 346 574 50 278 362 590 675 903 987 1215
4 461 766 170 475 483 788 795 1110
5 576 956 293 673 605 985
6 692 1141 420 869

RP-BS-125-SR

3 651 1141 73 563 681 1171 1288 1778 1895 2385
4 869 1522 300 953 907 1560 1514 2167
5 1080 1902 527 1349 1134 1956
6 1301 2283 753 1735

RP-BS-140-SR

3 808 1859 175 1226 1192 2243 2209 3260 3226 4277
4 1071 2487 564 1980 1581 2997 2598 4014
5 1345 3107 961 2723 1978 3740
6 1610 3726 1359 3475

RP-BS-160-SR

3 1522 2098 895 1580 2420 3131 4022 4682 4657 6233
4 2035 3133 1720 2618 3122 4169 4822 5720
5 2550 3690 2467 3654 3588 5205
6 3054 4893 3333 4701

RP-BS Spring Return Torque Chart (in-lbs.)

NOTE: 5 springs per side is standard

Size 40 PSI 60 PSI 80 PSI 100 PSI 120 PSI
RP-BS-045-DA 71 107 143 178 214
RP-BS-065-DA 171 256 342 427 512
RP-BS-080-DA 370 555 740 925 1110
RP-BS-105-DA 624 936 1249 1561 1873
RP-BS-125-DA 1214 1822 2429 3036 3643
RP-BS-140-DA 2034 3051 4068 5085 6102
RP-BS-160-DA 3102 4653 6204 7755 9306

RP-BS Double Acting Torque Chart (in-lbs.)



4 DSEPRG2024_RPBS800.789.1718 • dixonvalve.com

RP-BS-Series

RP-BS-Series 304 Stainless Steel Actuator 
Part Number Key 

Example: RP-BS-045-DA

Series Model Configuration Spring Set Seal Options Rotation

RP-BS - 045 - DA
Series Code
RP-BS RP-BS

Model-Size Code
045 045
065 065
080 080
105 105
125 125
140 140
160 160

Configuration  Code
Double Acting DA
Spring Return SR

Spring Set Code
3 3
4 4
5 (standard) blank
6 6

Seal Options Code 
NBR (standard) blank
FKM V

Rotation Code 
CCW air to spring (standard) blank 
CW air to spring R

RP-BS-Series Rack and Pinion Actuator - Part Number Key

RP-BS-Series Rack and Pinion Actuator - Spring Set Kit Part Number Key 

RP-BS-Series Series Spring Set Kit Part 
Number Key 

Example: RP-BS-045SS5

Series Model Kit Spring Set Quantity

RP-BS - 045 SS 5
Series Code
RP-BS RP-BS

Model-Size Code
045 045
065 065
080 080
105 105
125 125
140 140
160 160

Kit Code
Spring Set Kit SS

Spring Set Quantity Code
3 3
4 4
5 (standard) 5
6 6



5DSEPRG2024_RPBS 800.789.1718 • dixonvalve.com

RP-BS-Series

RP-BS-Series Rack and Pinion Actuator - Bill of Materials

12

11

10

9

8

2

3

4

5

6

7

1

13

20

19

18

17

16

15

14

21

13

222324

Item Description Material Quantity
1 Body CF8 1
2 O-ring (pinion top) NBR 1
3 Breaing (pinion top) Polyoxymethylene 1
4 Inside washer Polyoxymethylene 1
5 Pinion 304 SS 1
6 Bearing (pinion bottom) Polyoxymethylene 1
7 O-ring (pinion bottom) NBR 1
8 Outside washer Polyoxymethylene 1
9 Thrust washer 304 SS 1

10 Circlip 304 SS 1
11 Indicator Plastic (ABS) 1
12 Indicator screw Plastic (ABS) 1

Item Description Material Quantity
13 Guide (piston) Nylon 66 2
14 End cap screw 304 SS 8
15 End cap CF8 2
16 O-ring (end cap) NBR 2
17 Bearing (piston) Polyoxymethylene 2
18 O-ring (piston) NBR 2
19 Piston 304 SS 2
20 Plug NBR 2
21* Spring Piano wire 0-12
22 Adjustment screw 304 SS 2
23 O-ring (adjustment screw) NBR 2
24 Nut (adjustment screw) 304 SS 2

* For spring return only



6 DSEPRG2024_RPBS800.789.1718 • dixonvalve.com

RP-BS-Series Rack and Pinion Actuator - Dimensions

Size A (in) B (in) C (in) D (in) E (in) F (in) CH (mm) J L (in) N (in) M (in) P S T KK
045 7.6 2.6 1.2 1.2 2.6 0.8 11 F03 3.2 0.6 1.2 F05 M6x10 1/4" NPT M5x8
065 7.3 2.9 1.4 1.4 3.2 0.8 14 F05 3.2 0.6 1.2 - M6x10 1/4" NPT -
080 8.4 4.0 1.9 1.9 4.2 0.8 17 F05 3.2 0.7 1.2 F07 M8x13 1/4" NPT M6x10
105 10.5 4.8 2.3 2.3 5.2 0.8 22 F07 3.2 0.8 1.2 - M8x13 1/4" NPT -
125 12.2 5.4 2.7 2.7 6.1 1.2 22 F07 5.1 1.0 1.2 F10 M10x16 1/4" NPT M8x13
140 19.3 6.3 3.1 3.1 6.9 1.2 27 F10 5.1 1.2 1.2 F12 M12x20 1/4" NPT M10x16
160 21.1 6.9 3.4 3.4 7.8 1.2 27 F10 5.1 1.2 1.2 F12 M12x21 1/4" NPT M10x16

RP-BS-Series

 0.63" 
 A 

 0.95"  1.26" 

 0.47"  M5 THD. 

 T 

 4 mm SLOT 

 E 

 F 

 S 

 KK 

CH
 N

 P 

 J 

 B 

 D  C 

 L 

 M 

M6 THD.
 0.6"

 M5 THD. 



RP-BS-Series

7DSEPRG2024_RPBS 800.789.1718 • dixonvalve.com

RP-BS-Series

Kit Type Part Number

Seal/Bearing Kit (NBR Standard)

RP-045SS-RKB
RP-065SS-RKB
RP-080SS-RKB
RP-105SS-RKB
RP-125SS-RKB
RP-140SS-RKB

Seal/Bearing Kit (FKM Optional)

RP-045SS-RKV
RP-065SS-RKV
RP-080SS-RKV
RP-105SS-RKV
RP-125SS-RKV
RP-140SS-RKV

RP-BS-Series Rack and Pinion Actuator - Repair Kits

NOTE: All kits are qty 1 kit/actuator 
	         Repair kits contain the following item numbers from the bill of materials: 2, 3, 4, 6, 7, 8, 13, 17, and 18



8 DSEPRG2024_RPBS800.789.1718 • dixonvalve.com

Notes

RP-BS-Series



9DSEPRG2024_RPBS 800.789.1718 • dixonvalve.com

Copyright

Copyright © 2024 by Dixon Valve & Coupling Company, LLC

All rights reserved. This book is copyrighted material. Use, reproduction or copying of it by anyone other than Dixon® is strictly 
forbidden without its express written consent.

Limits of Liability
This brochure is intended as a product offering. It is not intended to be a user or technical manual. Information in this brochure 
is subject to change without notice. All users and distributors of products sold through this brochure should contact Dixon with 
questions of use, compatibilities, coupling procedures, and life of product. Our full-time engineering and test staff are always 
available to recommend uses and to assist distributors and users with any questions.

DIXON VALVE & COUPLING COMPANY, LLC (herein called "Dixon") warrants the products described herein and manufactured 
by Dixon to be free from defects in material and workmanship for a period of one (1) year from date of shipment by Dixon under 
normal use and service. Its sole obligation under this warranty being limited to repairing or replacing, as hereinafter provided, 
at its option any product found to Dixon's satisfaction to be defective upon examination by it, provided that such product shall 
be returned for inspection to Dixon's factory within three (3) months after discovery of the defect. The repair or replacement 
of defective products will be made without charge for parts or labor. This warranty shall not apply to: (a) parts or products 
not manufactured by Dixon, the warranty of such items being limited to the actual warranty extended to Dixon by its supplier; 
(b) any product that has been subject to abuse, negligence, accident, or misapplication; (c) any product altered or repaired by 
others than Dixon; and (d) normal maintenance services and the replacement of service items (such as washers, gaskets, and 
lubricants) made in connection with such services. To the extent permitted by law, this limited warranty shall extend only to the 
buyer and any other person reasonably expected to use or consume the goods who is injured in person by any breach of the 
warranty. No action may be brought against Dixon for an alleged breach of warranty unless such action is instituted within one 
(1) year from the date the cause of action accrues. This limited warranty shall be construed and enforced to the fullest extent 
allowable by applicable law.

Other than the obligation of Dixon set forth herein, Dixon disclaims all warranties, express or implied, including but not limited to 
any implied warranties of merchantability or fitness for a particular purpose, and any other obligation or liability. The foregoing 
constitutes Dixon's sole obligation with respect to damages, whether direct, incidental, or consequential, resulting from the use 
or performance of the product.

Some products and sizes may be discontinued when stock is depleted or may require a minimum quantity for ordering.

Limited Warranty

NOTE: Reasonable care has been taken in preparing this catalog. Dixon Valve & Coupling Company, LLC reserves 
the right to make corrections.

Trademark
Delrin® and Zytel® are registered trademarks of E.I. duPont Nemours and Company.

Kalrez® is a registered trademark of DuPont Dow Elastomers.

All other trademarks appearing in the Dixon illustrated product list are the property of their respective owners.

Safety

Safety logos, which appear throughout our catalog, are used as a reminder that the user should carefully review for the 
appropriateness of the product for the media, application, and environment in which it will be used.

NOTE: Because of the health hazards associated with contamination and lead content in drinking water systems, Dixon 
couplings, unless otherwise specifically approved, are not recommended for potable water service and should not be used in 
applications where drinking water will contact the wetted surfaces of the coupling.

All Dixon products are shipped in cartons with the following warning:
"WARNING: This product contains lead, a chemical known to the State of California to cause cancer and birth defects or other 
reproductive harm."

RP-BS-Series



10 DSEPRG2023_HSG800.789.1718 • dixonvalve.com

© 2024 DVCC DSEPRG2024_RPBS_Rev1Printed in the USA

N25 W23040 Paul Road, Pewaukee, WI 53072
Phone: 800.789.1718
Fax: 800.789.4046 
Email: sanitarysales@dixonvalve.com
dixonvalve.com

Dixon Sanitary

connect with us on


